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Scale | Pre Exams.
Alphabet Test Quiz 10

Directions: Read the following questions carefully and choose the right answer.

1. How many such pairs of letters are there in the word ADJUSTMENT each of which has
as many letters between them in the word as in the English alphabet?

A. None B. One C.Two D. Three E. More than three

2. Four of the following five are related to each other in terms of English alphabet series
and thus form a group. Which of the following does not fit to that group?

A. FUX B. PKN C. HSV D. MNP E. RIL

3. In a certain language, RANDOM is coded as TOPFAO , PLEASE is coded as RNEEUA then
find the code for “ORANGE”?

A. TEPIOA B. OTEPIA C. IPETOA D. TEPOIA E. ATEPIO

4. If it is possible to make a meaningful word, using the 2", 4t 5th and 9t |etters
(counting from left to right) of the word 'DEDUCTION', then what will be the 1% letter
from left of the word so formed? Mark 'Y' as your answer if no such word can be
formed. If more than one word can be formed mark the answer as 'X'.

A.N B.E C.u D.Y E. X

5. How many such pairs of letters are there in the word REACH, each of which has as
many letters between them in the word (only in forward direction) as they have
between them in the English alphabetical order?

A. None B. One C. Two D. Three E. None of these
6. What is the third letter of the meaningful English word which is formed using 3rd, 4th,
5th, 6th and 7th letters of the word “COMPARISON”? (Each letter to be used once)lf

more than one word can be formed then mark “X” as your answer, if no meaningful
English word can be formed then mark “Y” as your answer.

A.R B.A C.1 D. X E.Y




A A

A A

A.G

10.

A M

If a meaningful word beginning with B can be formed from ‘HACEB’, then the fourth
letter of that word is your answer. If no such word can be formed then your answer is
‘E’ i.e. ‘None of these’.

B.C C.E D.H E. None of these

If a meaningful English word has to be formed using second, fifth, sixth and ninth
letters of the word PREMATURE then which is the third letter of the new word. If no
such word can be formed then mark ‘X’ as your answer and if more than one word can
be formed then mark ‘Y’ as your answer.

B.R C.T D. X E.Y

If all the letters of the word ‘CHEVROLET’ that come before ‘M’ in English alphabet
series are changed to their second next letter as per alphabet series and all the letters
of the same word that come after ‘M’ in English alphabet series are changed to their
reverse letter then find the fifth letter from left end of the word so formed?

B.E C. 1 D.L E. None of these

If all the consonants before 'M' (in alphabet series) of the word "CONSIDERATION" are
changed to their immediately succeeding letters (as per alphabet series) and all the
consonants after 'M' (in alphabet series) of the same word are changed to their
immediately preceding letters (as per alphabet series) then what is the exactly middle
letter of the meaningful english (singular) word formed from third, fourth, sixth, ninth
and tenth letters of the changed word?

B.R C.A D.E E.S
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Correct Answers:

1 2 3 4 5 6 7 8 9 10
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Explanations:

1.

Possible Pairs:

Hence, option Cis correct.

Logic: Second letter is the reverse of first letter or vice-versa. Third letter is the third succeeding letter
of second letter.

FUX — U is the reverse letter of F and X is the third next letter of U.

PKN — K is the reverse letter of P and N is the third next letter of K.

HSV - S is the reverse letter of H and V is third next to S.

MNP — N is the reverse letter of M, but P is not the third next letter of N. Thus this is the odd one out.
RIL—1lis the reverse letter of R'and L is the third next letter of I.

Hence option D is correct.

The logic behind such coding is described as follows.

The logic works upon two variables: First one is consonant and second is vowel.
All the consonants of the word are changed to their second next letter as per English alphabet series.

All the vowels of the letters do not change their form but are arranged as per reverse alphabetical
order (within vowel position) from left to right.

Within vowel position refers to the reverse alphabetical order of vowels is applied to only those places
of the word where vowels exist and not on the whole word.

For example: RANDOM, here R,N,D and M are consonants so they will become T,P,F and O respectively
and will remain at their same position.

But vowels are A and O, these will be rearranged as per reverse alphabetical order where ‘O’ comes
before ‘A’.

So, RANDOM will become — TOPFAO

Applying the same logic we get PLEASE converted into RNEEUA.
So, by the same logic ORANGE will become OTEPIA.

Hence option B is correct.




The 29, 4th 5t and 9t |etters in the given word are E, U, C and N respectively but no meaningful word
can be formed using the letters.

Option D is hence the correct answer.

Possible Pairs only in forward direction:

E|A

Clearly, only one such pair is there.

Hence, option B is correct.

3rd 4th 5th, 6™ and 7th letters of COMPARISON are M,P,A,R and |I.
The meaningful English word formed so is PRIMA which means first.
The third letter of it is I.

Hence option C is correct.

Meaningful word = BEACH

N2
Fourth
Letter

Hence, option B is correct.

Second, fifth, sixth and ninth letters of the word PREMATURE are R,A,T and E.
Meaningful English words are RATE, TEAR and TARE.
Thus more than one word is formed, thus answer should be Y .

Hence option E is correct.




10.

Given word: CHEVROLET
New word: EJGEILNGG
Thus fifth letter from left end is ‘I’.

Hence option C is correct.

Given word : CONSIDERATION
Changed Word : DOMRIEEQASIOM
Third, Fourth, Sixth, Ninth nd Tenth letters are M,R,E,A and S.

Meaningful english (singular) word formed is SMEAR, which means to put false allegations on someone
to damage his/her reputation.

Exactly middle letter is 'E'.

Hence option D is correct.
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	Directions: Read the following questions carefully and choose the right answer.

